Titillé par cette histoire d’ESR j’ai essayé grâce au lien donné par Jean Marc pantefève de voir comment le mesurer avec es éléments donnés par un Agilent U1732A.
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DF=ESR/Xc or tan Φ
Equivalent Series Resistance or ESR for short is the sum of the Ohmic losses of the dielectric, materials and connections used in the construction of the capacitor.

ESR=DF*Xc=DF/(2* π*f*C)

ESR is normally expressed as a maximum value at specified frequencies, 120 Hz and 100kHz for aluminum electrolytic and tantalum capacitors and 100kHz for film cap.
J’ai donc appliqué deux méthodes de calcul et les résultats paraissent cohérents.

	 
	 
	C
	0,00001

	A renseigner
	
	F
	1000

	 
	
	2*PI*F*C
	0,0628

	 
	
	Z
	15,9235669

	Agilent donne
	Complément de Φ
	θ degrés
	88

	 
	
	θ radians
	1,53588974

	 
	
	Cos θ
	0,0348995

	Agilent donne
	Facteur de perte
	D
	0,034

	 
	
	
	 

	 
	RESULTAT EN Ω
	ESR = D/2*PI*F*C
	0,54140127

	 
	DE 2 METHODES
	ESR = Z*Cos θ
	0,55572447


